ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
1.	Maintenance and Protec	tion of Traffic	
	1 Lump Sum	\$_6,062.78 /LS	\$_6,062.78
		Figures	Figures
WRITE	E UNIT PRICE BID: Six The	ousand Sixty Two Dollars & Seventy Eight Cents	
			PER LUMP SUM
2.	Traffic Director, Municipa	al Police Allowance	
	1 Allowance		
	Trillowarioc	\$ <u>5,000.00</u> /AL Figures	\$5,000.00 Figures
WRITE	UNIT PRICE BID: F	Five Thousand Dollars and Zero Cents	
		The same same some	PER ALLOWANCE
			PENALLOWANCE
3.	Fuel Price Adjustment		
	1 Allowance	\$4,900.00 /AL	\$4,900.00
		Figures	Figures
WRITE	UNIT PRICE BID: F	our Thousand Nine Hundred Dollars and Zero	o Cents
			PER ALLOWANCE
4	Asphalt Price Adjustment		
4.	1 Allowance	\$9,400.00 /AL	\$9,400.00
		Figures	Figures
WRITE	UNIT PRICE BID: N	line Thousand Four Hundred Dollars and Zero	Cents
			PER ALLOWANCE
5.	Clearing Site (Maximum E	3id Price of \$15,000.00)	
	1 Lump Sum	\$ 15,000.00 /LS	\$15,000.00
		Figures	Figures
WRITE	UNIT PRICE BID: Fifteen T	Chousand Dollars	
			PER LUMP SUM

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
6.	Remove Existing Walks and	Driveways (Include Sawcutting)	
	95 Square Yards	\$ 0.01 /SY Figures	\$_0.95 Figures
WRITI	E UNIT PRICE BID: One Cent		
			PER SQUARE YARD
7.	Remove Existing Curb or Cu	rb and Gutter (Include Sawcutting)	
	375 Linear Feet	\$_0.01 /LF Figures	\$ 3.75 Figures
WRITE	E UNIT PRICE BID: One Cent		
			PER LINEAR FOOT
8.	Excavation, Unclassified, Tes	st Pits (If and Where Ordered)	
	40 Cubic Yards	\$_0.01 /CY	\$_0.40 Figures
WRITE	UNIT PRICE BID: One Cent	•	- Igaros
			PER CUBIC YARD
9.	Remove and Replace Roadw	ray Base (if and where ordered)	
	1,350 Square Yards	\$ 0.01 /SY	\$_13.50 Figures
WRITE	UNIT PRICE BID: One Cent		
			PER SQUARE YARD
10.	Hot Mix Asphalt Milling, 3" or	Less	
	13,480 Square Yards	\$ 3.49 /SY Figures	\$_47,045.20
WRITE	UNIT PRICE BID: Three Doll		Figures
			PER SQUARE YARD

SUBTOTAL FORWARD (\$ 87,426.58

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	Hot Mix Asphalt 9.5M64	Surface Course, 2" Thick	
	2,620 Tons	\$ <u>96.87</u> /TN Figures	\$_253,799.40 Figures
WRIT	E UNIT PRICE BID: Nine	ty Six Dollars & Eighty Seven Cents	
			PER TON
12.	HMA Crack Sealing (If and	d Where Ordered)	
	1,000 Linear Feet	\$ 1.75 /LF Figures	\$_1,750.00 Figures
WRITE	UNIT PRICE BID: One Do	llar & Seventy Five Cents	
			PER LINEAR FOOT
13.	Reconstruct Inlet, Type A,	Using New Casting	
	1 Unit	\$ <u>1,274.71</u> /UN Figures	\$ 1,274.71 Figures
WRITE	UNIT PRICE BID: One Tho	usand Two Hundred Seventy Four Dollars & Seven	
			PER UNIT
14.	Reconstruct Inlet, Type B,	Using New Casting	
	25 Units	\$_1,663.70 /UN	\$_41,592.50
WRITI	E UNIT PRICE BID: One The	Figures Dusand Six Hundred Sixty Three Dollars & Sevent	Figures
			PER UNIT
15.	Concrete Driveway, Reinfo	rced, 6" Thick (If and Where Ordered)	
	15 Square Yards	\$ 139.67 /SY Figures	\$ <u>2,095.05</u> Figures
WRITE	UNIT PRICE BID: One Hun	dred Thirty Nine Dollars & Sixty Seven Cents	
			PER SQUARE YARD

ITEM	DESCRIPTION	UNIT PRICE		TOTAL PRICE BASED ON ESTIMATED QUANTITIES
16.	Hot Mix Asphalt Driveway, 2" Thic	k		
	40 Square Yards	\$_48.93	_/SY	\$_1,957.20
		Figures		Figures
WRITE	UNIT PRICE BID: Forty Eight Dolla	rs & Ninety Three Cents		
				PER SQUARE YARD
17.	Concrete Sidewalk, 4" Thick			
	90 Square Yards	\$ 125.19	ISY	\$11,267.10
		Figures		Figures
WRITE	UNIT PRICE BID: One Hundred Tw	enty Five Dollars & Ninet	een Cents	
				PER SQUARE YARD
18.	Detectable Warning Surface			
	5 Square Yards	\$ 164.45	_/SY	\$ 822.25
		Figures		Figures
WRITE	UNIT PRICE BID: One Hundred Six	ty Four Dollars & Forty F	ive Cents	
				PER SQUARE YARD
19.	Belgian Block Curb			
	300 Linear Feet	\$ 49.94 Figures	/LF	\$ 14,982.00 Figures
WRITE	UNIT PRICE BID: Forty Nine Dolla			riguica
				PER LINEAR FOOT
20.	8" x 18" Concrete Vertical Curb			
	80 Linear Feet	\$ <u>49.94</u>	_/LF	\$ 3,995.20
		Figures		Figures
WRITI	E UNIT PRICE BID: Forty Nine Dolla	rs & Ninety Four Cents		
-				PER LINEAR FOOT
				77.37-1.35.16

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
21.	Traffic Stripes, Long Life	Epoxy Resin, 4" Wide	
	110 Linear Feet	\$_2.63 /LF	\$ 289.30
		Figures	Figures
WRITE	E UNIT PRICE BID: Two I	Pollars & Sixty Three Cents	
			PER LINEAR FOOT
22.	Traffic Markings, Thermo	plastic	
	110 Square Feet	\$_7.88/SF	\$ 866.80
		Figures	Figures
WRITE	UNIT PRICE BID: Seven	Dollars & Eighty Eight Cents	
			PER SQUARE FOOT
23.	Regulatory and Warning	Signs (If and Where Ordered)	
	15 Square Feet	\$_42.00 /SF Figures	\$ <u>630.00</u> Figures
WRITE	UNIT PRICE BID: Forty	'wo Dollars	
			PER SQUARE FOOT
24.	Reset Water Valve or Wa	ter Service Box	
	15 Units	\$_0.01/UN	\$ <u>0.15</u>
		Figures	Figures
WRITE	UNIT PRICE BID: One Ce	nts	
_			PER UNIT
25.	Reset Manhole, Sanitary	Sewer, Using Existing Casting	
	25 Units	\$ <u>0.01</u> /UN	\$_0.25
		Figures	Figures
WRITE	UNIT PRICE BID: Forty N	line Dollars & Ninety Four Cents	
			PER UNIT

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
26.	Topsoiling, 4" Thick , Include Fin	e Grading	
	65 Square Yards	\$ 4.90 /SY Figures	\$ 318.50 Figures
WRITE	UNIT PRICE BID: Four Dollars &	Ninety Cents	
			PER SQUARE YARD
27.	Fertilizing and Seeding, Type A-3	3	
	65 Square Yards	\$ 0.56 /SY Figures	\$ 36.40 Figures
WRITE	UNIT PRICE BID: Fifty Six Cents		
			PER SQUARE YARD
28.	Straw Mulching		
	65 Square Yards	\$ 0.82 /SY Figures	\$ 53.30 Figures
WRITE	UNIT PRICE BID: Eighty Two Cer	nts	
<u> </u>			PER SQUARE YARD
29.	Allowance for Work Not Specified		
	1 Allowance	\$/AL Figures	\$ <u>10,000.00</u> Figures
WRITE	UNIT PRICE BID: Ten Thou	sand Dollars and Zero Cents	
			PER ALLOWANCE

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 29 inclusive.
433,156.69 Dollars.
(Amount – Figures)
Four Hundred Thirty Three Thousand One hundred Fifty Six Dollars & Sixty Nine Cents
(Amount – Written)
TIME FOR COMPLETION of this Contract is <u>90</u> calendar days.
Quantities are not guaranteed. Final payment will be based on actual quantities.
C 5. BIDDER agrees that the Work will be substantially complete within <u>75</u> calendar days after the date when the Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed and ready for final payment within <u>90</u> calendar days after the date when the Contract Time commences to run.
BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.
C 6. Communications concerning this Bid shall be addressed to:
The address of BIDDER indicated below:
BIDDER NAME Z BROTHERS Concrete Contractors, Inc.
MAILING ADDRESS 304 Jernee Mill Road
Sayreville, NJ 08872
C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract include as part of the Contract Documents have the meanings assigned to them in the General Conditions.
SUBMITTED on May 4, , 20 22
BIDDER: Z BROTHERS Concrete Contractors, Inc.
BIDDER'S SIGNATURE
JOHN DOCE, President
Contact Information
Project Manager:TBA
Authorized Representative Signature: JOHN DOCE, President
Business Address: 304 Jernee Mill Road Sayreivlle, NJ 08872
Phone Number: 732 - 257 - 8087 Fax Number: 732 - 613 - 5291
Mobile Phone: N/A Email Address: mariazbrothers01@gmail.com